Math251 Worksheet 7 November 18, 2013

6.

9.

11

[EC 12.4.8] Find the mass and center of mass of the lamina occupysing the region D with
density p where D is bounded by y = /&, y = 0, and = = 1, and p(z,y) = .

EC 12.5.4] Evaluate /UJ ]l“)L [ 20yz dz dy de.

BC 12.5.12] Bvaluate [f[[ 2z dV where E is the solid tetrahedron with vertices (0,0,0),
(0,1,0), (1,1,0), and (0,1, 1).

BC 12.6.4(a)] Change from rectangular to cylindrical coordinates: (3,3, ~2).

EC 12.6.18] Bvaluate [[[, (2 + 2y®) dV, where I is the solid in the first octant (x,y, z arc
all positive) that lies beneath the paraboloid z =1 — % — 2

[EC 12.6.28] Evaluate by changing to cylindrical coordinates:
3 V9—aZ p9—a?y?
/ / / Va4 y?dzdy de
J-3.Jo Jo

EC 12.7.2a] Change (5,7, 7/2) from spherical coordinates to rectangular coordinates.
[EC 12.7.4a] Change (0, V3, 1) from rectangular coordinates to spherical coordinates.
BC 12.7.10] Write the equation in spherical coordinates,

(a) 22 +y?+ 22 =2

(b) z=a% — 4

L [EC 12.7.22] Evaluate (a4 %) dV, where H is the hemispherical region that lies above
JJgt Y it g

the zy-plane and below the sphere 22+ g/2 +22=1.

[EC 12.7.26] Find the volume of the solid that lies within the sphere % +y? + 2% =4, above
the zy-planc, and below the cone z = /a? + y2.



= |

Xzo



©

f

L X Py
J é *

jﬁ < x It
1%

—

- 3\03 EOQX o2 (jtj ()X

- o
- L | JEux
jd x \3\1_10 c)k
L
BL Xa'xl(;\(
U %y
B J\,(J X - 7 X
7 ;w(
- - Z
- X
77 s
_ My 5
X = — = —— _ _;_
W\ %/ - 7






B <
} ) WYY&YAA_?ZL 772N 2"() /7(('\'4'

© Tor (.. '
fr Gy) ) 2 ges b O

l6,00), (01,1) (1, }0)



X
X =
= - PN
,,,,, 3 =7 » x S
S Ms.vltlmsu T
~ x B
s 'Y \,D..X/ QO =, o : .
, : _ > . 3 > 3 .
T— ] - . u
ru n/W/ o Aw \_.n\ &hsd »ll.\uva §§§§§§§§§ - j"O&o\J m
x| —|r — A 4 D — SEN
X — e / ,
@ e X o0 J P _r\, /CJ o
| X . S S— N {
L vﬁé «\A - Su \
| . 9 L = - ,
L B VA,” N - -u/.U( H!Af J- 1!) -
o B o cw— T e
. s e ¥ 4 49 L
) : : a A N i Ly
_ Y i («
\
A!/LF\
n&t{IO
~
——
ky
I
R —









('fﬁ’”c?{&, 647 /M},US 5

C L ey buo ol §4 mey il

—

2 = ?»X)’ _,jc,.

Sy
® gb {,Uﬁ% \Q\) - %Mk Civele (u\{-eu,o /C c) (,J_h/\

dne > b B § oy 2):

We bpnt &SS X g Y
E

(,X,\/

) Do 0555973%



D
B 13 :
5] ) e
O
18 3 . "
P eheads

(JFde)( ] - 4 )




i

= (po,@) (gmuk), Tes
Zopas@ = 5eesTp = 5070

{"\J‘\g — [,{7 S(“tﬁ S’(H 0 - § 5\\.;\ T‘/Z S(M {Tr) = S— ¢ i'% O - CD
J o

| ' o i .
gb '/ht,s Pu;ﬁ' Wiy (2 (&"j‘u(‘;‘{ ¢ ““"{') S LQ._S;%LOJ

L R CADD

/4

- 0 2 1o - g B
/OQ:X .;,\Z'z—{z:z = O {*‘3 + 1 Lf/ Se /O—Q

¢ *&:/Dc:&;ﬁ’ & SO | = 2cesd
SN EE T ﬁ:%f{

¢ X—; /pswidCCié g & O; Q_S,‘lﬁé)((os(a)
! ) -

M\ Th

. CSE
/

[QORN Cj = O /

/7/1 - ]70 N Sy oY Sf,’/u/,z,gug (_‘é{,,/j, L,Je,,




b ’ ¢ = Xl 'tjz' bﬁ(,aw\w

p Ces gf - (‘/0 Sm & ceS @)7’ - SM;XSM@)Z

vy ~A8 o— 2 Ny 4 2on
;,4 CO- ¢ = /) St gj(COS’—G 'S(V\l@)

E DeSWEN R Z o




f 77/2 e | o ’ | |
J& jc go FI‘)‘ SIHJQ QF (Qe(}g (;‘(Lv\ ,Lp&??f,»‘wf{

u\\
i
o
1
TN

; ij ) i) e ’fj} er-
/ ’ '
Hrg Subgshnh?

) g )o >/\5’T | §6> ( jm sm> @00 )

2ﬂ”> (BH/L Su g (!/CDSlfl'g)Cj@/;

G

Suff 08 f/z "¢ sm f M)

W= kL~>¢ du"\' ﬁéﬁ(

) %w ( (Euse)}ew | ~~j!0 G (—63u>)

B X
e ’






§ J
N’



